1:2, 500 BWHHER = 2HDSTERC49)

xS\ N

i P SID B S

[m]
[u]

il

(-76259.504)

(-78259.486)
-76.0

-78.0

-49.5
(-49152.876)

>— -77.5

-49.5
(-49152.849)

A

T=UNI

47 43
49 50
TR B
{
S‘ = B W
BT
5ﬂ!-;ﬂ"\:
E =l

A372 =8k
— ] ® ® @ 25.62 k% &
SRERUBEE
© 42.3 SgzmEws
1] 225%% v35.6 WS AR
B 25,73 ™ K % &
T
fffff m o2 & BEEAELRL
[ M 12.3 E E )ﬁ
o Easmas © 158 f@&maéﬁ
-50.0
o) T A B 5o 3
A 2 N B m B M
A m = 1 = ®
& BO% B L £ =2 ®
&® s £ R t 3 ®
K BHERE T B O L
X E o= = + £ >3 >
BT - XB . " =
R B = W~ RYRL-HO
® i Qe )
@B o
O boE s 2 b g C e )
H ey #* i MH - H2AH
t & ] 4 £ = #
+ TURNEA 0 s v g
X ¢ B il = %
@ HitE - REE o on & 1#
A AR - ARME Y ' B &
® ® ® 2 el &
] ] & Iy ®
8 & 1 B XA 8RB
® B A @8 & Y A O
g B B S sk - wEO
X X X HE b ]
X T 8 R HeE S
r¢" z ] il H 5 &
P BHORY T8 T « T
Cm
® HIVRIUR # A O
® B = 3 f ~ L
L B BE o b &
—— T @ % &
,,,,,,,, % % BoH
,,,,,,,, -3 B = -
———————— ®t 5 = o
,,,,,,, GEIP) BmRDOBKM
RCECONET 121071 S I
7777777777 =N b L Y
A — ——HE. IHH RUBERSE
11
=== TR A U S M e % E
7 JTI 1 REOEE S TT
7777777777 — T BEOSEL\S
N, * = RE 0%
R T I Hm =———RUEEF
N LV B 8B ®
+ ® & | ---—- E 8 R
N A9 B - /R
18 ) T ® R RR EEBHORR
) —— e B OR R — X EHDR
——— BT RIS
/%£§& ,//A/¢%?%
TN 1l 505 | | H o&E R —  # W B
I o |
@ RHE - % i
I o
e N

o~
PRNIYROR.

By
o

)
o//"
i
/)
Ny

ERRSTRAUEEIXBRESESTEISORE
CXDEVEERR

BEQIBXILANILEE
(75065725.?.902) (:?égz'agm RBPICEFLTIHDEFEFE>IFTOX—KNILEMN

33 2 2 2 F BEOEBIARBOFH BT
'8 | 2 SEROBMBE 2 X— kL
3 2 FPEEASEBE. HRAHKCHH
B4 8EHS B ¥ BU46%47 ZIEHRY 1:2,500 CORRARE. DEHBREORBRUDEERT = =
Tl FTEBE 1 B W BNA8E6A RMEE 5 00 500 00 00 00 ARFEOARKRE AL TREENOTHD, R/ ERED
23 FEHEN 1. ¥BxE128 RUEE e : : : o (RRES) ¥x HA%L100%8
1. RR24438 MiEf




